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treated as case of unfair means.
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1. Association rule mining often generated a large number of rules. Dtscuss'etfectwe methods that
can be used to reduce the number of rules generated while still presewmgj most of the interesting rules.
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2. How does the tree pruning work? Briefly explain the two c’(mnmon approaches to tree pruning.
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3. Consider the Transactional Data for an all elecn omcs blanch as shown below:
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Mine the frequent ltemsetSfusmg vertical data format and consider the minimum support as two for
this problem. p / & // ; [4 Marks]
4. Conssder thp ;lass labeled tuples from the AllElectromcs customer database as follows;
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/’RID* . Age Income Student Credit-Rating | Class: buys computer
1 ™, | Youth High No fair No
", 12 | Youth High | No ' | excellent No
. |7 Middle Aged | High = | No i ,| fair Yes
%, "] 4 Senior Medium | No 1 fair Yes
5 Senior Low | Yes fair Yes
6 Senior Low Yes excellent No
i Middle Aged | Low Yes excellent Yes
8 Youth Medium | No fair No
9 Youth Low Yes fair Yes
10 Senior Medium | Yes fair Yes
11 Youth Medium | Yes excellent Yes
12 Middle Aged | Medium | No excellent Yes |
13 Middle Aged | High Yes fair Yes
14 Senior Medium | No excellent No




Apply the information gain method and identify the first splitting attribute for the same.
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Consider a database has five transactions. Let min sup = 60% and min con f = 80%.
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the two mining processes.
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